= O
M = 0ol &F AF S Z Al A
SH: B2
F: dael
ool ZEE AR (B9l & 2
- _ _ N e
SA- RO (3) - MEAY - BES Lo e =2
SR 11,692,443 13,073,882 A 1,381,439
= 87,583
AlHl 191,359
4 11,413,501
& 2tel 677,224 97,218 580,006
AlHl 81,812
4l 595,412
SFs A0z 677,224 97,218 580,006
AlHl 81,812
-4l 595,412
djzel 2Y 128,680 0 128,680
AlH] 81,812
2l 46,868
101 eIl 36,582 0 36,582
AlHI 24,388
i 12,194
04 JIZtHIZ2Z2 a2+ 36,582 0 36,582
OMNBE BX (PE L S)
46,7803 x2H 232 * 171 & 36,582
Altl 24,388
-4 12,194
201 LEt23| 89,326 0 89,326
AlHI 55,576
=l 33,750
01 AbR22lH| 74,530 0 74,530
O&AHOIHEE HAH L AF2 HE 24,840,000 24,840
AlHl 12,584
-4l 12,256
OdHasgA 249 49,690,000& 49,690
AlHI 33,128
4l 16,562
02 3234l 14,796 0 14,796
ORI IN EE SSR= 14,796,000& 14,796
AlHI 9,864
i 4,932
202 O4dl 2,772 0 2,772
AlHI 1,848
4l 924
01 =LHA b 2,772 0 2,772
Os K& =l 1,706,000& 1,706
Altl 1,137
-4l 569
OdHelER &M X< 1,066,000& 1,066
AlHI 71
-4l 355
HaAHZ3H XA 548,544 97,218 451,326




SN B2
Hal: d2e
Sl ZHE MIjnel (e @e
SN EB -GS - MBAY - BES 0 & 24 e HRE2
203 YR EH| 2,600 0 2,600
03 AIMEXHRETY] 2,600 0 2,600
Os &ige =& 1,600,0002 1,600
ouNge & 1,000,0002! 1,000
308 XHXIEHHIS Ol & 545,944 97,218 448,726
08 JIEIREZ 545,944 97,218 448,726
OFHIZH ¥ &AIZH| 530,814,0002 530,814
043 - 25| 15,130,00024 15,130
BEoY 235 2,629,135 2,648,935 £19,800
= 6,697
Al 50,564
2| 2,571,874
s gy 2,198,023 2,207,099 ~9,076
SNEE] 11,459 11,519 £60
201 Y2 | 3,440 3,500 £60
01 AtR2elt] 3,440 3,500 A60
OQIARRI2l Mal M= 3,440
USH o USHEX 10,6002 +30004 3,180
2RHHBHAN 260,000 260
203 R FET Y] 4,800 4,800 0
03 AIMEXHRETY] 4,800 4,800 0
ONAYL &3 2,400,00094 2,400
OlA FRYe =& 2,400,0002! 2,400
301 Yere Az 3,219 3,219 0
09 BoU2PRALAS 3,219 3,219 0
oA e BE 3,219
=23 83,0002 * 12 +122 1,086
=] 5,0008 %222 » 12 12 1,320
- WS 2,6009 %222+ 12+ 128 687
22 156,0002! %1% 156
NP DI HMB 246,680 243,960 2,720
201 Y2y 149,580 151,580 £2,000
01 AtR22lt] 149,580 151,580 2,000
ORMDE LMcY 1,000,000 %23 2,000
OYESHUE ASDE 350,000 7223 4,900
OZ2Y 9IS 141,000
SAZOA QTN R 1500008 55602 84,000
=Y TR DSV 200000810122 24,000
.63 BIILS 12,000,000 x2% 24,000
52 SAXHE 1,000,000 *9% 9,000
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SN B2
mau: wmoy 23
Erol: MESe Al CLR-E
A BB O(B) - NEAY - BAS sy S RS2
Ol &
OXA AN 7 1,680
SPNR=1g= S 3,000& 252+ 12& 900
SAZH 2,500 x4 2+ 128 120
- XXX 6,000 x5 F + 128 360
EADNE=ps 5,000& x5 *12& 300
202 O4Hl 97,100 92,380 4,720
01 =LHOA b 97,100 92,380 4,720
O3%2& us0ol 97,100
=2 & B2 400,000& 120 48,000
SAEAA QITHIHE R 70,000 x380H 26,600
e SAXMHE 2,500,000 =9 22,500
AAD] A 248,479 280,837 A 32,358
101 Q14| 218,799 227,159 A8,360
04 JIZtHZ2Z2HSE* 218,799 227,159 A8,360
OSF0IF%, S4FIF Mo " 218,799
SAFIt 45,480
- Q14| 46,7893 x66 x12H 37,057
- =X 46,7893 x12 x12H 6,738
- Xt 46,789 x3L x12Y 1,685
- FOIFA 154,405
- Q1| 46,789& x2402 + 11 123,523
- =%t 46,7893 x48L x11H 24,705
- At 46,7893 12+ 11H 6,177
- ZPAZIEE RFHS 199,885,000& *4.5% 8,995
- NESE 2Y3 199,885,000& 1. 3% 2,599
CAMTHEE Y2 199,885,000 *1% 1,999
- AAEE FEH= 199,885,000 *2.54% 5,078
LI AEE RY=
5,078,000 *4.78% 243
201 et 18,580 17,078 1,502
01 AFRZ2IH| 18,220 16,478 1,742
Oa==XE Xt 20,0002 30 12 7,200
OEI & S22 M 250,000& =12 3,000
Oox&Ed M 7,770
A 11,000& *6300H 6,930
L= 21,0003 =404 840
OXRXx AR 2EEE Y 250
EH ¥ SAEX 250,000& =*12] 250
02 5234l 360 600 A240
ORI AIRA QHUY ALE
30,0003 +1CH+12& 360




fAM: SR
B #moiy As
ol RIS Ea (el &2
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
303 ZAa= 11,100 36,600 A25,500
01 ZA&3 11,100 36,600 A 25,500
OEIAZSRE Al 500,000& =12 6,000
OREHIRA AlY 200,000& x3H x4 3| 2,400
OR=32& A 100, 0002 *3Z *4 3| 1,200
Of=2AMd Al 500,000 *3I1 £ A 1,500
A= M 2F 1,671,918 1,651,036 20,882
203 HRF&H| 500 2,500 A2,000
03 AMEFIHRFAY| 500 2,500 A 2,000
OSR2HYM S ARZH =& 500,000& 500
303 ZA= 1,332,960 1,105,890 227,070
01 ZA3 1,332,960 1,105,890 227,070
OUEY SIHZ (2, 72A) 1,062,132
HEY S ZLE 1,300,000& x732% 951,600
& EEE 110,532, 000& 110,532
ORIHAA &S =X 900,000& 168X 151,200
OXH B4 XN 119,628
< OH(2HOAI) 191,500 x5H « 12 11,490
HOH(BHTAI 168,500 *7Z x 123 14,154
AOH(2H2AI) 139,000 *16Y » 123 26,688
HOF(2H3AI) 95,5003 x20H = 12& 22,920
HOH(2HAI~5AI) 86,000& 43 «12& 44,376
307 212t01& 338,458 542,646 A 204,188
05 2IZtRAEF 338,458 542,646 A204,188
O32& =100 & 338,458,000 338,458
HI&OHHl =& & Al 19,487 19,747 A 260
201 LBt et) 9.487 9,747 £260
01 AtE22/Hl 9,487 9,747 A 260
OHl&0iHl 2 2Z 240
=0 70,0003 201 =13 140
=sHT g 100,000& 12| 100
OXHI AL E& Z4 7,147
olgte HlaAE 7,000& x305% x13] 2,135
SXNHsE Haad 7,000 *x716Z *13] 5,012
ORXLAl BIACHH HEA HE 700,000& *3& 2,100
308 MXIHHMSOIA 10,000 10,000 0
07 tiHlZ2sS48XBH4EX 10,000 10,000 0
oobl= s4X& 10,000, 000& 10,000
XA 2 431,112 441,836 210,724
= 6,697




S E2D
M WYAY L3
ool XBY P (Etel: & e
_ _ SIEN
SA-EFH - SA(SAH) - MREAY - BES Off &F oK Ol AF o8 BlusZ
ATHI 50, 564
| 373,851
ZOINXIE BAE X 31,190 29,030 2,160
AlHI 23,393
2| 7,797
201 ety 20,520 20,300 220
AlHI 15,390
2| 5,130
01 At el 8,500 2,500 6,000
OF8NxE B2 S 2,500,000% 2,500
AlHI 1,875
2l 625
O0lZal Z40yst 6,000,000% 6,000
AlHI 4,500
| 1,500
03 A2 12,020 17,800 15,780
OZFQXXE T2z 2H3 X
7,220,0002 7,220
AlHI 5,415
| 1,805
O2I=0l BHR2BHAE A 4,800,000 4,800
AlHI 3,600
2l 1,200
203 PREY| 1,400 0 1,400
AlHI 1,050
| 350
03 AlMFRYSFT| 1,400 0 1,400
OFQIXE YRz 1,400,000% 1,400
AlHI 1,050
2l 350
301 LetEaa 400 0 400
AlHI 300
| 100
10 BAAHIBAS 400 0 400
OAZQIMAL, HELES SHEUK 24
400,000 400
AlHI 300
| 100
405 THAHE S| 8,870 8,730 140
AlHI 6,653
| 2,217
01 HALSEHSH| 8,870 8,730 140
OFQINXE SYEE 7Y 8,870,000% 8,870
AlHI 6,653
2| 2,217
MOFSXIER KA Het2 X8 36,342 35,346 996
AlHI 18,171
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SN B2
HE: #HZAY As)
Sl X e (e @
5 o SIEN
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K Ol AF o8 Hws2
OFUSES YRADE 7Y 5,046
Z0SE3 0% JIHE H
28,8002 ¥8CHA #75% 173
FOUSEE HONE AEH
22,0002 * 165+ 167 S+75% 4,224
zols=3 ¥2=37 SAM EX
45,0002 554 A #750% 169
ZOS=Z QANoILE 7Y
30,0002 * 167 480
OFDSE HALDE 7Y 18,848
SE2 BT 28,0002 185 A 1670 S+75% 6,048
Sz=2 238 EU4 IEX
200,0002! +474 * 1674 S 12,800
OF YU SHZANE M
30,0008 * 1674 S 480
OFoIs=s 23 3,0002 28, 000% 84,000
OF0ISE H2XX 22 X 300,008 300
02 IZ2Y| 5,898 4,050 1,848
OFVUESS ¢2 29N 25282
5,000,000 5,000
OFUS=Z w2 2WE
3,4002 228t A #122 898
22E NN 2Y 6,720 7,200 £480
201 Yer2 gyl 6,720 7,200 £480
02 ZZ2Y| 6,720 7,200 480
OcCTV 29 140,000 *474 4 124 2 6,720
Z=OINXIS B 26,970 53,620 26,650
201 LByl 10,770 29,570 18,800
01 At 2l 10,770 25,770 15,000
OBZY M 270
o1 T} & 21,0002 54 105
S 11,0002 1574 165
O/0IY OISt DA AALY
50,0002 ¥708| %30 S 10,500
301 LB B A 1,000 7,400 6,400
10 BAHAEI B4 S 1,000 7,400 6,400
OFUNXSAE DF, AOILE &I
250,000 *4% 1,000
303 EaZ 5,200 5,250 A50
01 Z&3 5,200 5,250 A50
0S4 FOXAE AlL 1,000
RS 500, 0002 * 174 2 500
24 300,0002 174 4 300
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AN SR
B #moly Ust
ool X P (el &2
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
201 dBt23d| 3,400 5,610 N2,210
01 At22telyl 3,400 5,610 N2,210
OAl - 28 &93 Izl 2,500, 000& 2,500
OXtstAs F200IA HEAIH HIZ 300,000 *34 900
203 PR =&l 3,600 3,600 0
03 AIHFRHRF=ZEY| 3,600 3,600 0
OExE HRFX 1,200,000& 1,200
O=E il 2t 3l 2,400,000& 2,400
303 EAZ 1,300 1,300 0
01 Za3 1,300 1,300 0
OS2& MHE Al4 1,200
ENRSE 500,000& x1H 500
P 300,000& *x1H 300
PR 200,000& *x2H 400
O&XNAZ BOH 2 2223 AlY
50,000& x2H 100
LM T Al BFS D] 70,000 0 70,000
207 A TR 70,000 0 70,000
01 Ad2E9H| 70,000 0 70,000
OWHO Ot E Al 21T JI2XA 9
70,000,000& 70,000
010 SHdle BMUF 181,167 107,970 73,197
HMStES T Al AFGH 181,167 107,970 73,197
AFGFZ0I2HEI0] &9 15,000 15,000 0
201 B3| 15,000 15,000 0
01 At22teldl 15,000 15,000 0
OAtat= otatdlol &4 15,000
AN = 2,000,000& *63] 12,000
-EBZ2(2Z=) MAH 1,000& *5000H *63] 3,000
HMEtSE A =R 20,687 35,770 A 15,083
201 Et24| 19,887 30,050 A 10,163
01 AtS22telyl 8,600 16,240 NT,640
OUSAA BHG M= 1,500
ZAE 1,000,000& 1,000
Wbl ¥ =24 500, 000& 500
OmMsts ZRLUE B2t 5,000
AE 5,000& *1,000% 5,000
OBMstE5Eols 29 300
HEH 12,0003 *5H 60
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SN

£20
Hal: MBS S4
el MEXS 22 34 (Bl @)
_ _ _ Muo
A E3 . S9(3H) - AR A - BYS Ao il b o HRs2
2 80,666
AlHI 58,963
2| 479,983
TXUSH AlEAY 57,132 22,500 34,632
2 28,566
AlHI 14,283
2| 14,283
307 2120/ 57,132 22,500 34,632
= 28,566
AlHI 14,283
2| 14,283
05 QI2t9iEtz 57,132 22,500 34,632
OAZZHI2H AlYALY 57,132,000 57,132
2 28,566
AlHI 14,283
2| 14,283
DIZIEE METSAL SX 40,000 40,000 0
AlHI 20,000
2| 20,000
401 AEHIYL S0 40,000 40,000 0
AlHI 20,000
2| 20,000
01 Al&H| 40,000 40,000 0
OMRIZIBIE MEBRSAE &% 40,000,002 40,000
AlHI 20,000
2| 20,000
AR MEHSKCK HA 83,712 83,712 0
2 41,856
2| 41,85
307 2120/ & 83,712 83,712 0
2 41,856
2| 41,85
02 PIAFAEE 83,712 83,712 0
OFYN MEMSNCK I X2
83,712,000 83,712
2 41,856
2| 41,85
MBS X2 28,000 24,000 4,000
AlHI 4,000
2| 14,000
307 2120/ H 28,000 24,000 4,000
ALt 14,000
2| 4,000
02 DIAMBE 28,000 24,000 4,000
OF MEHSE X2 28,000,0002 28,000
AlHI 14,000
2| 14,000
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SN

E
Hu: MBI SA
ol MEBRS 22 - |4
- _ _ N e
SN EY O (BH) - MRAY - BLS 0l &k o e
24 MEHSFX A BHX 20,928 20,928
= 10,464
-4l 10,464
307 212t01& 20,928 20,928
= 10,464
-4l 10,464
02 QI2tFAEX 20,928 20,928
oozd Med=sX T X 20,928,000& 20,928
= 10,464
4l 10,464
MEMSWY 29 18,334 18,334
AlHl 5,500
4l 12,834
307 212t01& 18,334 18,334
AlHI 5,500
-4l 12,834
05 2IZtRAEZ 18,334 18,334
OMdexsus 24 18,334,000& 18,334
AlHI 5,500
4l 12,834
FMsiE 29 3,600 3,600
AlHI 1,800
4l 1,800
307 212t01& 3,600 3,600
AlHI 1,800
-4l 1,800
05 2IZtRAEZ 3,600 3,600
O&+ Loxsis 29 3,600,000 3,600
AlHI 1,800
4l 1,800
Heloldsna 22 3,400 3,400
AlHl 1,700
4| 1,700
307 212t01& 3,400 3,400
AlHI 1,700
-4l 1,700
05 2IZtREF 3,400 3,400
O0eol Nsna 23 3,400,000 3,400
Alt] 1,700
=l 1,700
FaEXNEna 23 3,400 3,400
AlHl 1,700
-l 1,700
307 212t01& 3,400 3,400
Al 1,700
4l 1,700
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AN SR
M MBS sS4
Celr MBS 232 84 (ol @
SN (B) - MBEAY - B2 0f Ao Soe HRZ2
05 QIZHREZ 3,400 3,400 0
OFALY MaEus 29 3,400, 000& 3,400
AlHI 1,700
sl 1,700
g 29 317,419
B4M43 317,419
=Ha - 2sRSE24H3 317,419
ot d3H 29 317,419
2520 1,465,000& x1H «12& 17,580
- 2E 2ssY 450,000& x12& 5,400
- 2= JHAIXNI&] 17,580,000 1/ 12%840% 12,306
- 2s HESOH| 17,580,000& *1/12%120% 1,758
SN 20 813,000& x7H 128 68,292
il 2Es2Y 350,000& x7H «12& 29,400
cHs FESE 100,000 x 1 «12& 1,200
& JFAIXI& I 68,292,000 *1/12%840% 47,805
N HESOHI 68,292,000& *1/12%120% 6,830
=dbl 36,000
- S| 7,000 x8H 25 x 12 16,800
- 524 5,000& x8H 252 x12& 12,000
- 2HAH| 3,000 *8H x5 x 12& 7,200
o= 14,928
- ghst= 200,000& *8H *13| 1,600
-2S=E 150,000 *8H x4 3| 4,800
23t 100,000 8 x4 3] 3,200
- orgt 6,0003 *8H x3E=*12& 1,728
- =5 (4,01) 150,000& *8H *33] 3,600
S &y 2 20,920
- c2f3 250,000& *8H *23| 4,000
-Jg 1,500 150 8 ~12& 2,160
-HES 50,000& x15Et A 128 9,000
HE 30,0002 *8H x2IH x12& 5,760
2d L Ha&sd 24,800
ERSPNE=T=] 3,000,000& *23| 6,000
-3 s 470,000& *8H *53| 18,800
- JIEFZHI 30,200
- El&Z2 4,000,000 *1H 4,000
- =422l 500,000& x12& 6,000
- 24X =] 100,000& 12& 1,200
- YA A 200, 000& x30H 6,000
- @RFA| 500,000& x12& 6,000
- SR AAAY AFH| 2,000,000& =13 2,000
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SN BRI
Hu: MBS S4
ol MENS 22 84 (Sl &2)
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
% RQUB(M9) 7Y 30,0009 <42 1,260
Cda 2% P 5,0002 x42% 210
LRI 7,0002 x42% 294
e R 50,0002 +7H €} 350
MESHA HE L X 22,060 18,490 3,570
201 LByl 14,300 1,200 3,100
03 A2 Y| 14,300 1,200 3,100
OPHIU S S50 HEH 29 7,100
STk 100, 00021 875 S 20§ £ 1,600
29gE 7Y 500, 0002 8% 2 4,000
CASME HA AUE  500,0002+3E 2 1,500
ORHEU A S50 A AL(SEZ) 7,200
oA 150, 00021 +8%5 2 *4 4 4,800
el 100, 00021 +8% 2 *34 2,400
203 HRFY| 4,000 4,000 0
03 AlZZ=T QR =Ty 4,000 4,000 0
OXMSHA JPE 4,000,0002 4,000
301 YsrPAS 3,760 3,200 470
10 BAEI 243 3,760 3,200 470
ORI HS S50 YN 29 3,760
- &l By 50,0002 *8% +8% 2 3,200
R QA IA 7,000 « 10 +85 2 560
HMEAE 22l 45,120 52,520 AT,400
MENE RX 24 45,120 52,520 A7,400
201 Yer2g| 15,120 2,520 12,600
02 IZ2Y| 15,120 2,520 12,600
ONE yEx2 B2 2,520
=Pl 160,0002 122 1,920
M- B2ER 50,0008 * 122 600
OMAZ AN ®II8 50,0002 +128 600
OCHHE BHZ 2K ZOISAIZ 2 22 12,000
®Il2 700,000 * 122 8,400
-] 300,0002 *122 3,600
401 Al&HIL 20| 30,000 50,000 20,000
01 Al&| 30,000 50,000 20,000
OSUl HSAE 24 30,000, 0002 30,000
Y 2 A= 134,773 130,108 4,665
tasm @ 134,773 130,108 4,665
ANHHZAA 2 87,318 80,963 6,355
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SN B2
Mo 2B AE
ol HasE 2 (pel @
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
201 LetEdH| 36,870 38,560 A1,690
01 AtE22/Hl 7,400 7,900 A 500
Ool===Z otlliztet H& 2 E
200,000& *5& 1,000
Odl===%& HAIE FHlE SIIX
400,000 »2CH+8 6,400
02 Z&=23l 29,470 30,660 21,190
Ol ==& s83x= 10,000
Holg(d=D1) 1,000,000& 2 2,000
HI1Z (Hl=21) 400,000& *10& 4,000
Aol 2(4d2I]) 500,000& 23 1,000
& - ot=E2(Hl=2D]) 300,000 «10& 3,000
Oofl+==2% S3st&4a 22 16,800
Eas=H(E=2D1) 3,000,000& «2& 6,000
EE=HHIAESII) 600,000& «10& 6,000
2elEF 2 A2 =& 400,000 122 4,800
Odi==& 2clM= 1,400
fH 10,000 *90H 900
JIEtHZ 100, 000& 100
2E 40,000& *10& 400
Odil==%& zte|l MILE= 1,270,000& 1,270
301 Et2A = 6,585 6,585 0
09 SUIFRRALLZ 6,585 6,585 0
Odfl==& A&z 6,585
== 88,000 x2H x12& 2,112
- A 5,000& x22 2L 122 2,640
- W SHl 2,600 x222 x2H x12& 1,373
= 156,000& x2H 312
2et= 74,000 x2H 148
401 A EHIL 204 4,000 4,000 0
01 Al&HI 4,000 4,000 0
OgollAFSAIA L HYAIE 24 & FH|
4,000,000 4,000
HY2AHU(BL) 7,405,172 8,615,165 A 1,209,993
ol 2| 7,268,634 8,475,750 A1,207,116
ol 2EH| 7,268,634 8,475,750 A1,207,116
101 @1 ZH| 2,029,247 2,140,058 A110,811
02 JIEtE 2 189, 166 222,454 N 33,288
OFAEH 23 45,152
== 1,847,400 x1E ~ 123 22,169
2+ 22,169,000& *1/12 1,848
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SN ELD
Hu: #ESHAY (E2D
chel: o2t oyl
S HE - S(EH) - NRAY - BES 01l &k o e
N | 6,597
S EE PN
6,342 1H+60A| 2tx 120 & 4,567
-optERay
2, 1142 +8AI 2t 1H+ 102+ 120 2 2,030
NE=E 1,200
- <X 40,000 x1H «12& 480
- JIEt 20,0003 x3H 123 720
AEEH X =Y 208
- st 51,9903 »1Z *43| 208
CRE =Y 30,000 x1H«12& 360
S HIE JR3 1,320
- 208 0l& 25@ Ofgt
110,000 «1H <128 1,320
el &=l 50,000 x1H «12& 600
- 2ol =4 9,590
- 3G A 130,000 x1H « 1228 1,560
- nsSEX| 120,000 x1H +12& 1,440
- HEFOHYI 22,169,000 *1/12%120% 2,217
- JFAIRI & Y] 22,169,000 *1/12x200% 3,695
- GOtE At 22,169,000& *11/360 678
ESE= Ny u] 105,000 x1H « 122 1,260
OF5a dYA HeHA 96,347
g 70,319
- ct= 30,208,000& =1 30,208
- 0t= 21,175,000& =1 21,175
- 0t= 18,936,000 1 18,936
N2 222 4,902
- ct= 5,8483 x30A| 2+ 12& 2,106
- 0t= 4,099 *30Al 2t*12& 1,476
- 0t= 3,666 *30Al 2t 12& 1,320
NE=E 2,160
- <Xt 40,000 x1H «12& 480
- JIEHEE 20,0003 +x7E+12& 1,680
- ZUS A 130,000& 3+ 12& 4,680
- G2 4| 1,506
-ct= 30,208,000 *70%+11/360 647
- 0t= 21,175,000 *70%+11/360 453
- 0t=2 18,936, 000:& *70%+11/360 406
- =W 200,000& +3H +12& 7,200
HZE X 105,000& 3H 12 3,780
CHel& SHl 50,0002 x3H 122 1,800
O MSSAHEY 23 )AHALA 37,430
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SN B2
=3 HESAAL(ERD)
ool QE 2| (9 E2
A BB O(B) - NEAY - BAS Of o e Hl R =2
= 27,486,000 =1 27,486
CAZRIZ2RY 5,321&*30Al 2+ 12& 1,916
s 1,200
- i< At 40,0002 x1H« 128 480
- JIEIHE 20,0003 x3H x12& 720
- G A 130,000& 1H «12& 1,560
- G2 A 27,486,000 & *70%+*11/360 588
- S LHA I 200,000 x1H«12& 2,400
HZE X 140,000& x 18 »12& 1,680
- el Esyl 50,000 x1H «12& 600
ONetx 3 HEZAE D
787,440,000 *1.3% 10,237
03 RIAHA2Z 2 NHE = 1,840,081 1,771,804 68,277
ORIAAZZ X =S (1Y)
1,035,704,000& 1,035,704
SotER N 2R 2u3
7,379,300,000& *4.5% 332,069
ORJIAAZ2ZX NESEE FE=3
7,379,300,000& *1.3% 95,931
ORIAAZZXN M4 HEE FE=
7,379,300,0002 *2.439%% 179,982
OSINARRT AL 23
7,379,300,000& *2.54% 187,435
SISt EN ORI TE 2ea
187,435,000 *4.78% 8,960
203 HERF&| 123,185 123,185 0
01 J|22IHRF&HI 92,100 92,100 0
OJ|&22g =8| 92,100
&8 58,300,000 & *90% 52,470
FREHE 40,700,000& *90% 36,630
SR 3,000,000& 3,000
02 HANMMPRFEHI 26,885 26,885 0
OZ A R =AY 26,885
- 100 It K 80,000& *100 8,000
- 1012 -300H 60,0003 200 12,000
- 301-6004H 45,0003 »153H 6,885
FA2IYRF=AH| 4,200 4,200 0
ORM2ZE gRF&l 4,200,000& 4,200
dutEazg 11,000 0 11,000
JIEt2E A3 11,000 0 11,000
ORJHA%2Z2 N BEHEAL =23
1,000,000& 11 11,000
s = 1,686,719 1,651,369 35,350
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SN B2
M #H2SAL(E2D)
& QI 2AY| (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
02 d&0= 1,686,719 1,651,369 35,350
OZR& d1a0=
15,569,713,000& *1/12%130% 1,686,719
304 ASFEIS 3,358,483 4,501,138 A 1,142,655
01 H=RE= 2,718,248 3,674,912 AN 956,664
OZRE H=3?RE=a S 2,718,248
Ze@ oz 2e3
18,042,344,000& *17.251%*75% 2,334,364
229 gxsy 2y3
18,042,344 ,000& *2 .. 5809%*75% 349,242
S22 Mol2a RFE=
18,042,344, 0002 *0. 256%75% 34,642
02 AL EE = 640,235 826,226 A 185,991
OZ2 AYRE 2L
32,074,908,000& 2. 54%*75% 611,027
Okol A FE2
814,703,000 *4 . 78%*75% 29,208
307 212t01& 60,000 60,000 0
07 H=3X=3 60,000 60,000 0
OIS (M T2, Mall2x2)
60,000, 000& 60,000
Jl2&Hl 136,538 139,415 A2,877
Jl=23| 136,538 139,415 A2,877
201 LEH2HH| 136,538 133,315 3,223
01 AtSR22/Hl 130,546 127,178 3,368
Ogd==d 102,980
=Z 77,480
- =37 50,000 x4 H 253 50,600
-5ed =5 60,000 x4 112 26,880
24X 25,500
-2 -35Y 50,0003 x5 & «62 15,500
-ERY 50,0003 x4 «50 10,000
ogxad #3372 100,000 & «4 & +23] 800
Ogxa E37 ME 60,000& 123 720
Ogday 285 7Y 100, 000& 43| 400
OFANZAH 2RAIE 2 1,140
2RE(sE) 100,000 *3H * 13| 300
22=2(6t=) 70,0002 *3H *13] 210
A0l = 30,0003 3% »23] 180
ctst 50,000 »3H x13] 150
S eEs 100,000 *3H *12] 300
OJt221(3221) 7 6,000 & 50004 3,000
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